İNGİLİZCE GENEL DENEME SINAVI 4.

1-22. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

1-    
I'm afraid we can only offer you a/an ............... position for the time being.


A) accurate    
B) gradual    


C) scarce      
D) temporary 


E) rapid

2-    
I can't believe that his remarks were ............... . Surely he didn't mean to be so offensive. 


A) harmonious 
B) abrupt     


C) deliberate 
D) rough    


E) incorrect

3- 
When we arrived at the airport, we were ……….  surprised to find a car and driver waiting to pick us up and take us to the home of our host.

A) pleasantly
B) vigorously 

C) eventually
D) gradually

E) merely

4- 
Paul claims that he accidentally left the window open, allowing the cat to get out, but no one believes him and everyone thinks this act was ………. 
A) obvious 
B) considerate


C) tactless 
D) immoral

E) intentional

5-
The final decision………. a paper’s contents is normally made  ………. the newspaper’s editor.


A) with/of
B) for/from


C) about/by
D) of/out of


E)
among/with

6-
The poor old lady above us has no income of any kind……….  a small retirement pension.


A) as well as
B) in addition to


C) such as
D) rather than


E) apart from

7- 
Martha tried to  ……….   the fact that there was broccoli in the dish by smothering it with cheese, but her children weren’t foaled and discovered it right away.

A) indicate 
B) overtake

C) deny
D) disguise


E) refuse

8- 
The German poet Goethe used to spend a lot of time in the Bavarian Alps as he found the mountains gave him the ……….  to write.

A) estimation 
B) inspiration

C) achievement 
D) conclusion

E) requirement

9- 
Your tennis racquet is under your bed; it ……….  my eye yesterday as I was looking for my earring on the floor.

A) took 
B) brought

C) caught
D) set

E) kept

10-
People ……….  food for untold ages — probably since prehistoric people first ……….  to use fire.

A) are cooking/were learning

B) cooked/had been learning

C) will be cooking/had learnt

D) had cooked/have learnt

E) have been cooking/learnt

11-
The police ……….  about the robbery before it happened, so they ……….  the criminals on the act.

A) are being informed/are catching

B) had been informed/caught

C) had informed/could have caught

D) would inform/ought to catch

E) have been informed/have caught

12- 
During my childhood, every summer we ……….  to the beach and there my parents ……….  for a change.

A) would go/could relax

B) used to go/were relaxing

C) would have gone/have relaxed

D) have gone/would be relaxing

E) had gone/might have relaxed

13- 
If they ……….   the construction of our house in a week, we ……….  rent for this flat for one more month.

A) shouldn’t finish/have to pay

B) didn’t finish/were going to pay

C) hadn’t finished/ought to pay

D) can’t finish/will have to pay

E) wouldn’t finish/were paying

14- 
The Voyager spacecraft, which was launched ……….  Kennedy Space Centre in Florida in the 1970s, has by now gone ……….  Pluto, the most distant planet in the solar system.

A) beneath/to 
B) at/through

C) in/around 
D) from/beyond

E) off/from

15- 
Now that your son has returned, you should ring the police and tell them to ……….  the search for him.


A) 
turn down 
B) set out 

C)
keep up 
D) start over
E) 
call off

16- 
In fact, I had wanted to see the manager ………., but as he was out of town, I had to talk to an assistant of ………. 
A) his own/him

B) him/himself

C) himself/his

D) my own/his own

E) myself/him

17- 
Andrew hated his daughter’s hairstyle so much that he said he would pay for her to go to the hairdresser, ……….  the cost.

A) whatever 
B) how much

C) how else 
D) wherever

E) what for

18- 
A: 
My son hardly ever reads anything, apart 


from the books his literature teacher asks them to read.


B: 
……….  She spends all her time chatting on 


the Internet.

A) As was his sister

B) Neither does my daughter

C) So do I myself

D) But your daughter hasn’t


E) None of the children do

19- 
The length of Pauline’s fingernails was ……….  that it was virtually impossible for her to do anything without damaging them.

A) much 
B) rather

C) even 
D) such

E) yet

20- 
Of ……….  aspects of the natural landscape,  ……….   is affected to a greater degree by climate than is natural vegetation.

A) some/few 
B) every/each

C) all/none 
D) other/some

E) each/neither

21- 
Felicity is a small blonde girl with blue eyes, ……….  both her brothers are tall and dark.

A) whereas 
B) just as


C) unlike 
D) despite


E) no matter

22- 
While some of the people at the show were disappointed, most of them seemed ……….  they thought they’d got their money’s worth.

A) as if 
B) even though

C) as far as 
D) provided that

E) in case

23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
When people think about sources of water pollution, they do not usually think of aquariums - pools for breeding fish. (23) ……….  , as the demand grows for fish to eat, the number of aquariums is increasing. In some areas, they are beginning (24) ……….  environmental problems. In fact, when fish are in their natural (25) ……….  , they do not pollute. But in aquariums, the situation is not (26) ………. . There are usually lots of fish in very little water. This means that the water must be changed very often. And each time it is changed, the dirty-water must be thrown away. It is usually poured directly from the aquariums into a river or the ocean. The chemical balance of the river or coastline (27) ………. by this dirty water. And the plants and animals living there may suffer.

23-


A)
However
B)
Although


C)
If
D)
Since


E)
Thus

24-


A)
create
B)
to create


C)
creating
D)
created


E)
to have created

25-



A)
round
B)
surrounding


C)
around
D)
environment


E)
area

26-


A)
natural
B)
unnatural


C)
artificial
D)
superficial



E)
superior

27-


A)
has changed



B)
had been changed


C)
is changed



D)
will change


E)
will have been changed

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
In the United States and in many European countries, there is a serious problem. What should be done with the garbage? There is no more room for garbage (8) ……….   . It is not possible to burn garbage, because that pollutes the air. So the governments are looking for ways to (29) ………. the amount of garbage that is produced. One way to do this is to recycle as much as possible. Not all kinds of garbage can be recycled of course. The easiest things to recycle are probably glass and paper. (30) ………. , one can also recycle many kinds of metal and plastic. Many cities now require people to recycle  these materials. The people must put them (31) ……….  from the regular garbage. Then special trucks take them away and bring them to (32) ………. companies. These companies will buy them and use them again.

28-


A)
dumps
B)
cars


C)
containers
D)
tracks


E)
baskets

29-



A)
induce
B)
 reduce


C)
introduce
D)
increase


E)
decrease

30-


A)
Whenever
B)
Whichever


C)
Wherever
D)
Whoever


E)
However

31-


A)
together
B)
side by side


C)
separately
D)
inside



E)
next to

32-
 


A)
private
B)
special


C)
big
D)
large


E)
huge

33 – 42. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

33- 
Although millions of people visit the Turkish seaside each year, ………. 
A) 
the country is surrounded by the sea on three sides
B) 
it is still possible to find some quiet places

C) 
the neighbouring country of Greece looks very much the same

D) 
the most popular destinations are often very crowded

E) 
hotel owners and restaurateurs make a lot of money

34-   
The World Cup is such an interesting tournament ….

A) 
since the final can be predicted quite accurately

B) 
because the best national sides from all over the world play one another

C) 
as the Brazilian side is no longer the most powerful 
as it once was

D) 
ever since the African sides improved dramatically                 

E) 
than the others because it is only played once every four years

35-   
....... that Marilyn Monroe chose her surname from a list of names of American Presidents.

A) Her real name was Norma Jean Baker        

B) I am not sure whether                                 

C) Since she needed a good stage name

D) Not many people know

E) While it is known for certain

36-  
As far as I can remember, she's the singer........

A) 
why everyone likes her so much

B) 
whether she has had a hit record or not

C) 
who came in last in the Eurovision Song Contest

D) 
and I have confidence in my ability to remember names

E) 
that her husband is a famous actor                      

37-   ........ there would be enough for everyone.

A) 
If some people had not been so selfish

B) 
Provided that people do not take more than their share

C) 
Since some people own a lot more than others

D) 
Unless we are careful to conserve our supplies            

E) 
Though not many people are concerned about the global warming

38-   Don't be shy about asking the teacher ………. 

A) 
that there is something unclear

B) 
unless you were having major difficulties

C) 
since yesterday, when she gave you the assignment

D) 
even if you are finding maths quite difficult at the moment

E) 
if there is anything you don't understand

39-   
........ he wouldn't have wound up turning twenty-one in prison.

A) 
In case he got caught by the police

B) 
Although he thought he could be the leader of the gang

C) 
Since his neighbourhood had a bad influence on him

D) 
Until he learnt how to be a law-abiding citizen

E) 
Had he not made the wrong kind of friends at school

40-   
....... instead of making her cook for us on this special occasion.

A) 
As usual, the dinner she prepared was terrible

B) 
We always help our mother by doing the washing up

C) 
Jane needs some cooking lessons

D) 
We decided to take our mother out to dinner

E) 
It took her hours to make the curry.

41-   Ever since the new boss took over, ………. 

A) 
we were worried about his reputation

B) 
everyone has been working harder to impress him

C) 
no one liked the old boss anyway

D) 
everyone has to be at work on time in the morning

E) 
he is known to have quite a prominent place in this sector

42-  
Anyone can see that the couple don’t get along........

A) 
by the way they are always arguing even in public

B) 
whereas it is apparent that they dislike each other

C) 
despite the fact that there is nothing that they agree on

D) 
as everybody feels sorry for their two young children

E) 
so obviously, they would get divorced before long

43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43- 
Michael is going to be sent to the USA to do research work.

A) 
How is it going?
B) 
What’s the matter with you?

C) 
What’s up?

D) 
What have you been doing so far?

E)
What’s the news?

44- 
Splendid, but Kate mustn’t be told about it.

A) Let’s go swimming, shall we?

B) Will Kate come with us?

C) 
Let’s tell Kate about our swimming plan, shall we?

D) Must Kate know the news?

E) Is Kate coming for dinner today?

45- 
Yes, his name is John Brown. He said to be very exacting.

A) Is that woman your aunt?

B) Who is that man over there?

C) Is that man the one you are talking about?
D) Do you know anything about that man?

E) Why is that man so exacting?

46- 
We were supposed to, but we didn’t.

A) 
Did you visit Stratford during your stay in Britain? 

B) Are you going to go to Britain?

C) Have you been in Germany for a long time?

D) Why didn’t you go to Hamburg?

E) Were you supposed to go to Brazil?

47-50. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

47- 
The bombs dropped on the area where there were civilians caused a great loss of life.

A) 
Sivillerin bulunduğu bölgeye atılan bombalar büyük can kaybına neden oldu.

B) 
Sivillerin bulunduğu bölgeye bomba atıldı ve çok sayıda insan hayatim kaybetti.

C) 
Bombaların atıldığı bölgede sivillerin de bulunması can kaybının büyük olmasına yol açtı.

D) 
Pek çok sivilin yasadığı bölge bombalanınca can kaybı büyük oldu.


E) 
Can kaybının büyük olmasının nedeni, bombalanan bölgede sivillerin de yaşıyor olmasıydı. 

48- 
As I  wasn't  sure if it  was the right address, I knocked on the door a little hesitantly.


A)
Eğer adresin doğruluğundan emin olsaydım, kapıyı bu kadar tereddütlü çalmazdım.


B)
Doğru adrese gelip gelmediğimden emin olamadığım halde, biraz tereddütlü de olsa kapıyı çaldım.


C)
Adresin doğru olup olmadığından emin olamadığım için kapıyı biraz tereddüt ederek çaldım.


D)
Adresin doğruluğundan emin olmadığım için kapıyı çaldığımda biraz tereddütlüydüm.


E)
Tereddüt içinde olmama rağmen adresin doğru olup olmadığını öğrenmek için kapıyı çaldım.
49-
It was inevitable that one of the sides would go bankrupt because of the ruthless competition.
A) 
Bu amansız rekabet her iki tarafı da iflasın eşiğine getirdi.

B)
Korkunç rekabet sonunda 
taraflardan birinin iflas etmesine neden oldu.

C)
Taraflardan biri iflas edince doğal olarak rekabet ortadan kalktı.

D)
Acımasız rekabet yüzünden taraflardan birinin iflas etmesi kaçınılmazdı.

E)
Kıyasıya rekabete rağmen taraflardan sadece biri iflas etti.

50- 
The documentary I was watching when you phoned lasted till midnight.

A)
Dün akşam sen telefon ettiğinde televizyondaki belgeseli izliyordum.

D)
Seninle telefon konuşmamızdan sonra televizyondaki belgeseli izledim.

C)
Gece yarısına kadar belgesel izledikten sonra sana telefon ettim.

D)
Seninle telefonda görüştüğümüz sırada başlayan belgesel ta gece yarısı bitti.

E)
Sen telefon ettiğinde izlemekte olduğum belgesel gece yarısına kadar sürdü.

51-54. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

51-
Şimdi eşi olan Matthew ile ilk tanıştığında Ruth sadece on yedi yaşındaydı.

A)
It's almost seventeen years since Ruth first met 


her husband, Matthew.

B)
The first time she met Matthew, who is now 


her husband, Ruth was only seventeen.

C)
At the age of seventeen, Ruth met Matthew, 


now her husband, and decided to marry him.

D)
Ruth had only just met Matthew when she 


decided to marry him at the age of seventeen.

E)
Soon after they'd met, Ruth, who was 


seventeen, knew that Matthew was going to be 


her husband.

52-
Bütçe işlemi kimi zaman kamu harcamalarının bir yönü olarak düşünülür ve ele alınır.

A)
It is the budget procedure which is sometimes 


thought of and accepted as a way of public 


spending.

B)
The budget procedure is often regarded and 


handled as a way of public expenditure.

C)
Usually the budget is regarded and accepted as 


a way of public expenditure.

D)
Budget procedure is usually thought of and 


taken up as a way of public spending by 


people.

E)
Budget procedure is sometimes regarded and 


taken up as one way of public expenditure.

53- 
Bu birkaç günlük iş gezisi onu daha yakından tanımanı sağlayacak.

A)
Going on a business trip for a few days will provide an opportunity for you to get to know him better.

B)
If you want to get to know him better, you can go on a business trip for a few days with him.

C)
A business trip for a few days will prove useful  you’ll get to know him better.

D)
You’ll be able to get to know him better during the few days on this business trip.

E)
This business trip of a few days will enable you to get to know him better.

54-
Tam toplantı başlamak üzereyken, başkan gündeme bir maddenin daha eklenmesi rica etti.

A)
The meeting was just going to start when the chairman said that he wanted to add one more item to the agenda.

B)
The chairman expressed his dissatisfaction with one of the items on the agenda just as the meeting was starting.

C)
Hardly had the meeting started when the chairman wanted to include another item in the agenda.

D)
No sooner had the chairman suggested that they should add one more item to the agenda than the meeting started.

E)
Just as the meeting was about to start, the chairman requested that one more item should be included in the agenda.

55-57.  soruları verilen parçaya göre cevaplayınız.

There are signs of the arrogance of power in the way Americans act when they go to foreign countries. Foreigners frequently comment on the contrast between the behaviour of Americans at home and abroad: in their own country, people say, they are hospitable and considerate, but as soon as they get outside their own borders, something seems to get into them and wherever they are, they become noisy and demanding and they strut around as if they owned the place. One reason Americans may act as though they "own the place" is that in many places they very nearly do: American companies may dominate large segments of a country's economy; American products are advertised on billboards and displayed in shop windows; American soldiers may be stationed in the country, and even if they are not, the population are probably well aware that their survival depends on the wisdom with which America uses her immense military power. I think that when any American goes abroad, he carries an unconscious knowledge of all this power with him and it affects his behaviour.

55-   According to general opinion, ………. 

A)  
Americans should stay within their own borders


B)  
very few countries welcome Americans as tourists

C)  the American government has no right to station its troops overseas

D) 
Americans behave differently when they are overseas

E)  
Americans make the most unpleasant tourists in the world

56-
The writer states that Americans behave arrogantly in foreign countries because .............

A)  
they become aware of their country's influence around the world

B)  
they cannot find the same levels of hospitality and consideration as they can at home

C)  they have greater spending power than tourists from other countries

D)  they only visit places which actually belong to the U.S.A.

E) 
they receive a lower standard of service than they do at home

57-
The writer ………. 

A)  
is against the stationing of American soldiers around the globe

B)  
admits that there is some justification for the way Americans behave abroad

C)  feels threatened by the arrogant behaviour of American tourists

D)  prefers having contact with Americans when they are in their own homes

E)  
believes that American influence around the world is excessive
58-60.  soruları verilen parçaya göre cevaplayınız.

The very name of Bali conveys an aura of magic, and this island paradise amply fulfils all expectations. One of the reasons for Bali's position as Indonesia's number one tourist destination is undoubtedly its great scenic beauty — majestic mountains, tranquil lakes, lush green rice terraces, dense tropical jungles and glorious beaches — but it's the unique charm of the Balinese themselves which makes a holiday in Bali so unforgettable. Their deep religious beliefs permeate every aspect of their daily lives, and are instilled in all their ancient ways — the grace and beauty of their dance, the joy of their music, the colour and spectacle of their ceremony, their innate skills as artists and craftsmen, and their extraordinary hospitality and friendliness. Bali's constant sunshine, combined with its rich, unending variety of new sights and experiences, will cast a spell on you to last a lifetime.                                                                       

58-   
The writer states that, in Bali………. 

A)  traditions are so strong that there is no progress

B)  the sun shines all the time

C)  there are many who practise witchcraft

D) 
religious ceremonies involving dance are held daily 

E) magic is an important factor in people's lives

59-   In every thing they do, the Balinese………. 

A)  are influenced by their religion

B)  aim to please the tourist

C)  carry themselves very gracefully

D)  cast spells to keep evil away

E) are governed by their natural surroundings

60-  
According to the writer, ………. 

A)  the only destination for tourists in Indonesia 
is Bali

B)  Bali is the most beautiful place on earth

C)  if you visit Bali once, you will return there every holiday for the rest of your life                                                                     

D) the practice of magic is still very common in Bali

E) 
no one is disappointed when they visit the island of Bali

61-63.  soruları verilen parçaya göre cevaplayınız.

International terrorism is not part of a general human problem. It is a specific and identifiable problem on its own. And because it is specific and identifiable, because it can be isolated from the context that breeds it, it is a remediable problem. That is the first point to get clear. To say it is remediable is not to underestimate the size and danger of the problem. On the contrary, it is almost impossible to exaggerate the threat that terrorism poses for our civilization.

61-
One point stressed firmly in the passage is that…….        

A)
the survival of our civilization has never been at stake throughout history

B)
of all the human problems, terrorism is the most difficult to cope with

C)
terrorism is inseparably related to other human problems

D)
international problems is a phenomenon that can be dealt with effectively

E)
most people tend to underestimate the need to fight terrorism

62-
What distinguishes international terrorism from the main body of human problems is that it is …………      

A)
recurrent and widespread

B)
exaggerated but ignored

C)
underestimated yet feared

D)
specific and identifiable

E)
only recognizable when isolated

63-
Though it is asserted in the passage that terrorism can be remedied ……….         

A)
the ability of civilization to overcome it is assured

B)
the main emphasis is on the enormity of the problem

C)
this can only be achieved within the context of all other human problems

D)
too much exaggeration of the problem could prevent this

E)
the circumstances that feed it will produce even greater problems

64-66.  soruları verilen parçaya göre cevaplayınız.

Of the causes of cancer, tobacco is the most important and the best understood in terms of its malignant effects. Diet, on the other hand, is probably of comparable importance, but the data on its epidemiological impact are much less reliable. In terms of factors which protect against cancer, these are not well understood, although B-carotene, vitamin A and pentose fibre all exert some protection directly or indirectly. It is possible that an important contribution to the future prevention of cancer will come from the prescription of protective measures, whereas proscription of harmful factors or activities could prove unpopular and ineffective.

64-
Among the causes of cancer, it seems likely that       ………… 

A)
the effects of tobacco are indirect and 

secondary 

B)
tobacco will remain the single important factor

C)
diet is actually as important as tobacco

D)
nearly all the data are extremely unreliable

E)
a better understanding of dietary factors will not be fruitful

65-
In the passage, it is suggested that the control of cancer   ………… 

A) 
is dependent equally on prescriptive and proscriptive

B)
can be effected only by indirect methods

C)
can best be realized by the proscription of harmful factors

D)
is outside the realm of possibility

E)
is more likely to be achieved by preventive measures than by cutting out harmful factors

66- 
From the passage, we can understand that …………        

A)
the effect of diet on cancer is understood to be minimal

B)
there is much more to be learnt about the relationship between cancer and diet

C)
of the vitamins only A provides any direct protection against cancer

D)
efforts to control cancer have very often proved harmful

E)
the data concerning the malignant effects of tobacco are far from reliable

67-69.  soruları verilen parçaya göre cevaplayınız.

Throughout the year, chimpanzee food is quite varied, but it is mainly vegetable material. At times, however, Gombe Park is loaded with insects—termites, ants, caterpillars—and the chimpanzees will eat huge numbers of them. The chimpanzees’ really remarkable behaviour appears when they gather termites. According to Suzuki and Van Lawick-Goodall, when chimpanzees see that termites have pushed open their tunnels on the surface, they will go off to find a suitable termiting tool. It may look simple, but the job takes skill and patience.

67-
The author states in the passage that the chimpanzees’ most remarkable behaviour can best be seen …………  

A)
when they are hungry.

B)
as they are resting.

C)
when they are looking for termites.

D)
in the spring.


E)
before they attack their prey

68-
According to the author, when chimpanzees gather termites they show ………… 

A)
a dependence on each other.

B)
remarkable strength.

C)
understanding and caring.

D)
ability and persistence.


E)
independence on each other.

69-
One can infer from the passage tat ………… 


A)
chimpanzees are carnivores.


B)
chimpanzees are herbivorous.


C)
they don’t choose any special food.


D)
Chimpanzees feed on insects.


E)
Chimpanzees are very skilful and patient animals.

70-72.  soruları verilen parçaya göre cevaplayınız.

For a brief interlude in American history, between the passing of the Indian and the buffalo and the entry of the farmer and the barbed-wire fence, the Great Plains witnessed the most picturesque industrial drama ever staged—the drama of the open range and the cattle ranch. If the Southern planter could once claim that cotton was king, the Western cattle rancher could proclaim with equal fervour that grass was king. For the time being, at least, the plains were one limitless, fenceless, gateless pasture of rich, succulent, and ownerless grass that was there for the taking. Within an incredibly short period the herds of bison had been replaced and outnumbered by the herds of cattle.

70-
The author’s main point in this passage is that ………… 

A) 
this was a profitable time for western cattle ranchers

B)
the Great Plains is a good place for cattle grazing

C)
cotton was as important to the South as grass to the West

D)
during this time the pastureland was industrialized


E)
one could use this area for farming

71-
According to the passage, a notable characteristic of the Great Plains at this time was ………… 
A)
its lack of industry

B)
the large number of buffalo found there 

C)  its openness

D)
its opportunities for farmers

E)
its availability for settling down.

72-
The author implies in the passage that the


character of the Great Plains ………… 

A)
remains unchanged today

B)
changed with the coming of the farmer

C)
is no longer picturesque

D)
is similar to that of the South

E)
changed with the industry

73-75.  soruları verilen parçaya göre cevaplayınız.

Until recently, few people went cycling, but during the last few years more bikes have been sold in Britain than cars. Now approximately two million are bought each year, the majority of which are mountain bikes. There are over 500 different models to choose from and the prices vary enormously. The cheapest can be bought for under £200,  while you will need over £4,000 for a bike at the top end of the range. The reason for this difference is the quality of the frame. Bikes costing less than £350 are not recommended since they are very heavy and therefore not much fun to ride. Furthermore, they often break because they are not very well made. The more expensive models are much    lighter because they are made of metals like aluminium. When buying a new bike it is best to go to a specialist bike shop rather  than a toy shop or garage. One reason for this is that a specialist will make sure that the bike fits you properly, as a bike which is the wrong size can be both uncomfortable and dangerous. To reduce the risks of injury, cyclists are advised to wear a helmet. Although bikes travel at slower speeds than motorbikes, you can still suffer serious injuries to the head if you fall off.

73-
The author states that recently ……………


A)
many people have bought bikes especially mountain bikes in Britain.


B)
more cars have been sold than bikes in the UK.


C)
over 500 different models of bikes have been 



produced.


D)
prices of bikes have been increasing rapidly.


E)
more people have been going cycling

74-
It is stated in the passage that ……………


A)
people prefer the cheaper bikes because they can’t afford the expensive ones.


B)
the more expensive the bikes become, the more quality they are.


C)
the more expensive models are much stronger and heavier because they are made of metals.


D)
you can buy a good second hand car with the money you pay for the most expensive bike.


E)
people prefer mountain bikes because they go mountaineering.

75-
It is mentioned in the passage that when buying


a new bike it is best to go to a special bike shop 


……………


A)
as cyclists should wear a helmet to reduce the risk of injuries.


B)
because they give you a bike at a speed you prefer.


C)
if you want to buy a comfortable and safe one.


D)
because uncomfortable and dangerous bikes are generally the wrong size.


E)
because they give you a helmet free of charge.

76-80. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

76-
Usually a volcanic eruption follows an earthquake some distance away

A)
A major earthquake is always followed by a major volcanic eruption

B)
To be able to predict a volcanic eruption, just watch out for an earthquake

C)
Volcanic eruptions and earthquakes happen at the same time.

D)
If there is a volcanic eruption it means there will be an earthquake somewhere else.

E)
When there is an earthquake somewhere there is usually a volcanic eruption not very far away.

77-
The Japanese government spends as much on earthquake preparation as it does national defence.

A)
The Japanese allocate equal amounts of money for national defence and earthquake preparation.                

B)
In Japan, earthquake preparation takes as much time as national defence  preparation

C)  The Japanese government has decided to 


divide the  budget into two so that equal amounts are spent on earthquake preparation and national defence.  

D)
For the Japanese national defence is as 


important as earthquake preparation.

E)
Earthquake preparation and national defence have equal but the greatest share in Japan's budget.

78- 
He was badly injured, but at least he was alive.

A) 
He managed to survive in spite being injured badly.


B) 
After the accident he managed to live with his injuries.

C) 
He might be badly injured, but he remained healthy at last.

D) 
He was badly injured, but he tried to live however.


E) 
Even if badly injured, he's managed to live again.

79- 
I wonder if you would care to tell me why you think that George deserves being promoted.

A) 
Do you say that George is going to be promoted?

B) 
Let’s talk why George has deserved being promoted.

C) 
What about telling why you think George should be promoted?

D) 
I'm not sure if George deserves being promoted so much.

E) 
Why don't we talk about George's promotion?

80-  
The doctors have ordered that no one but her relatives can visit her.          


A) 
Not even family members can visit without permission from the medical staff?


B) 
All of those from her family asked the doctors for permission to visit her.

C) 
Anyone who wants to visit her has to obtain permission from her doctors and relatives.                                                                       

D) 
The doctors have allowed the immediate members of her family to visit her. 

E) 
According to the instructions of her physicians, only family members are allowed to visit her.                                            

81 -85. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

81-
People deserve happiness in marriage, but I think they go about it in the wrong way. ………… On the contrary, they give up too easily when things go wrong. However, marriages have to be re-made and re-made day by day, week by week, over a long period of years.

A)
In my opinion, there is a very clear role for both partners

B)
I honestly believe that young couples ought to go through a pre-marriage training course

C)
They bottle up problems and allow minor irritations to blow up out of all proportion

D)
In fact, many couples believe happiness will occur naturally the minute they’ve announced their engagement

E)
Marriages break up because people are not prepared to work at them

82-
Whenever you see an old film, even one made as little as ten years ago, you can't help but be struck by the appearance of the women taking part. Their hair-styles and make-up look dated; their skirts look either too long or too short; their general appearance is in fact slightly ridiculous. The men taking part in the film, on the other hand, are clearly recognisable. ……….  This illusion is caused by the changing fashions of women.

A)
You can see only a little similarity between their 


clothing and ours

B)
There is nothing that suggests they belong to a 


different age

C)
Because men do not pay attention to fashion

D)
Fashion for both men and women is very 


necessary

E)
Because men in the film appear to be poorer 


than women

83-
Economic problems never affect the antiques market. There are two reasons for this: First, antiques  are  very  reliable  investment instruments. The trend in antiques never goes down. It always goes up. Secondly, if you play the stock market, the share certificates lying in a bank safe give no aesthetic pleasure. ………. 
A)
The owners of antiques should be aware of their 


value and care for them

B)
However, every antique object provides the 


satisfaction of seeing a work of art

C)
Some people sell their antiques at ridiculously 


low prices thinking they are old, and worthless

D)
Antique collecting has become a passion with 


an ever increasing number of adherents

E)
Antique buyers are far more knowledgeable 


than they used to be a few years ago

84- 
There has been a diminishing controversy about 


whether sociology should be called a science or 


a more neutral name such as discipline.  ……….  


Some, for example, point to the difficulty of 


applying the experimental method to social 


phenomena as a major obstacle. Such scholars 


do not usually hold, however, that the field does 


not deserve study or that its findings are not 


worthwhile.


A) 
The scientist is interested in observable


phenomena

B) 
Some believe that sociology is not a science


at all and that’s because of the nature of its


subject matter can not be one

C) 
Nature is more inconstant than constant

D) 
You have not tried to emphasise the


environment

E) 
The economic development of the country is


observed in detail

85-
Dictionaries show the pronunciation of words with symbols which indicate sounds. ………, so you should read the guide to pronunciation in a dictionary in case it should be different from that in your own.

A)
However, this gives the learner the headache of apparently learning two alphabets

B) 
These symbols, known as phonemes, are part of the internationally recognized phonetic alphabet

C)
This is particularly useful in languages. such as English, whose spelling is not phonetic

D)
Not all dictionaries use the same symbols. though

E)
Despite this, many learners have problems with sounds not used in their mother tongue

86-90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86-
Your father is giving you a lift to school, but he is driving too fast. In the meantime, you have noticed the traffic sign and the speed limit on it, so you want to warn your father:

A)
You shouldn't have taken this road.

B)
You aren't supposed to drive so fast on this 


road.

C)
You should be very cautious while driving.

D)
Drivers ought to obey the speed limit.

E)
If you drive so fast, you will make an accident.

87-
Your roommate has left to attend a conference in another city and will be away for some time. You don't want to be alone during her absence, so you're asking a friend to keep you company:

A)
Do you have any plans for tonight? If not, let's 


go out somewhere.

B)
Will you come and stay with me for a few days?

C)
I've just called to ask if it is possible for you to 


attend a conference with me?

D)
My roommate is away for a few days. We should 


take advantage of her absence.

E)
I'm tired of living alone. Shall we share the 


house together?

88- 
You are in a cafe, where you order a cup of tea. As the waiter is coming to you with the tray on his left hand, the cup of tea slides and falls to the floor, splattering you. The waiter gets very upset and apologises. You want to calm him down by saying:

A) 
A person in any occupation, when he does his job, should do it as perfectly as supposed.

B)
It was absolutely your fault.

C) 
That’s all right. It could happen to anybody.

D) 
Well, my clothes weren't that much expensive.

E) 
You should try to be more careful next time, okay?

89-
You bump into an old friend, whom you haven’t seen for years. You are chatting about old times, when a band of gold on the ring finger of his left hand catches your eye. Guessing at its significance, you exclaim:

A)
I really miss those days when we were young and had no  responsibilities.

B)
Is your father still a gold trader on the stock market?

C)
Do you remember my girl friend Cindy? Well, she’s my wife now!

D)
What’s this? You’re married, aren’t  you? Why didn’t you mention it?

E)
Things are so expensive these days. I had to sell all my jewellery, you know!

90-
At the weekend you went to the seaside to swim. You got very sunburnt, but it was your own fault. You say​:

A)
I'm badly sunburnt. It's painful.

B)
I should have put some suntan lotion on, but I'd forgotten to take it with me.

C)
Even though I had put on suntan lotion, I got very sunburnt.

D)
I suffer from sunburn, but very rarely.

E)
If I had known what to do, I could have saved it.

91-95. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91-
Mother
: What have you got in your hands?


Child
: …………         


Mother
: Well take it back outside immediately. 




It’s disgusting.

A)
Nothing. They’ve just a bit dirty.

B)
Some leaves I picked from the trees.

C)
A bar of chocolate. Jill gave it to me.

D)
I’m not showing you. It’s a secret.

E)
It’s a spider. I caught it in the garden.

92.
Jennifer
: Which picture did you like?


Mary  
: I liked the one with the black  frame.


Jennifer
: Oh really. I know its painter………….


Mary    
: Yes, that would be terrific!

A) Do you want to paint it?

B) He is your friend, isn't he?

C) Do you want me introduce him to you?

D) Will you visit this exhibition once more? 

E) This  picture is very expensive, isn't it?

93-
Mr. Smith : What can I do for you, sir?


Mr. Jones : We have a problem with the office




Christmas party. Mrs. White was




organising it, but she has been taken




sick.

Mr. Smith : ..........

Mr. Jones : That would be wonderful! And you'll



definitely get a free ticket for yourself



and your wife.

A) 
I hope it doesn't spoil your assignment?

B) 
I never want to be in such a bad situation.

C) 
Would you like me to do it instead?

D) 
What about my making an appointment with her?

E) 
Take it easy and try to find a practical solution, won't you?

94- 
Joanne 
: I'm sorry to bother you Jackie, but I've



run out of sugar. Do you think you




could let me have some?

Jackie 
: Yes, of course. Would you like brown




or white?

Joanne 
: I'd rather have white please. Here's




some money for it.

Jackie 
: ............

Joanne 
: Well, I'll give you some sugar back



tomorrow after I've done shopping.




A) 
Why do you make such an interesting offer?

B) 
I'd rather you never paid for a little amount of



sugar.

C) 
It would be possible for you to return it



whenever you want to?

D) 
Don't be silly ! I won't take any money.

E)
Will you have to pay for it, my dear?

95-
Crosby
:
………… 


Robert
:
It's great. Really enjoying it.


Crosby
:
Well, if you'll excuse me, I have to 




go. It  was nice meeting you.


Robert
:
Thanks, nice meeting you, too.


A)
How do you like it here so far Robert?


B)
Can I be of any help to you?


C)
Isn't it lucky to meet you again?


D)
Will there be anything else? Or is that all?


E)
Is your stay here coming to an end?

96-100. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

96- 
I) Many people say that the British do not work hard enough, and there may be some truth in this complaint. II) Economic policy of the government can hardly be blamed by others. III) Certainly for some years past production in Britain has been increasing much more slowly than in most other European countries, and the lack of progress is cau​sing great concern. IV) Some blame the management, too secure in the enjoyment of their privileges and expense accounts and too well protected by their trade associations. V) Others blame the workers, over anxious to protect their jobs   and to resist labour saving techniques.

A) I             B) II            C) III             D) IV              E) V

97-
I) Beavers live in North America, Europe and Asia. 

II) They are good swimmers and live in water in the pine forests. III) They have large flat tails and very sharp teeth with which they cut down trees to make homes. IV) Beavers generally eat plants, berries and tree bark. V) These usually have a dining room, a bedroom and a living room.

A) I
       B) II             C) III              D) IV               E) V

98- 
I) Two years ago I got part in a commercial for ice-cream. II) I am ten and I have dreams of becoming famous, too. III) I had to eat four big spoonfuls of strawberry ice-cream in twenty seconds. IV) At first it tasted fine, but when my "TV mother" brought in the ice cream for the sixteenth time, I started to feel sick and had to run out of the studio. V) I haven't eaten ice-cream since then.

A) I             B) II            C) III             D) IV              E) V

99-
I) I adore climbing, breathing the fresh mountain air, looking down at the villages far away in the valley below. II) And I love standing on the top of a mountain and feeling a great sense of achievement. III) However, climbing isn't always pleasant. IV) I always choose people who know each other. V) I hate waking up in the morning feeling cold, eating dried food all the time and having to wait for a saucepan of snow to melt so I can have a cup of tea. 

A)I
           B)II            C)III     
       D)IV   
        E)V

100.
I) The stress of unemployment is one cause for rising death rates in the middle years. II) Those who are lucky enough to be employed are receiving inflation-slashed salaries. III) The worst is that some people are forced to take jobs below their level of qualification. IV) Nevertheless there is no hope to prevent decreasing production. V) This happens at a time when their life experience should be most valued.

A)I              B)II              C)III               D)IV               E)V
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